	Vendor Name> Location>				Bid #1 Graham Contracting Ltd. Seattle, WA		Bid #2 SCI Infrastructure Seattle, WA		Bid #3 Cecanti Tacoma, WA		Bid #4 Ila Bros.,Inc. attle, WA	Bid #5 Gary Merlino Construction Co. Inc Kent, WA		Bid #6 c. MidMountain Contractors, Inc. Kirkland, WA		Engineers	Estimate
ITEM NO.	ITEM	UNIT	APPROX.	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
TIEW NO.	SCHEDULE A - ROADWAY IMPROVEMENTS		QUANTITY		TOTAL	UNIT PRICE	IOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	IOIAL	UNIT PRICE	TOTAL
A1	Construction Surveying	LS	1	\$150,000.00	\$150,000.00	\$130,000.00	\$130,000.00	\$200,000.00	\$200,000.00	\$120,000.00	\$120,000.00	\$125,000.00	\$125,000.00	\$175,000.00	\$175,000.00	\$100,000.00	\$100,000.0
A2	As-Built Survey and Record Drawings	LS	1	\$22,000.00	\$22,000.00	\$27,000.00	\$27,000.00	\$20,000.00	\$20,000.00	\$30,000.00	\$30,000.00	\$25,000.00	\$25,000.00 \$4,000.00	\$25,000.00 \$50.000.00	\$25,000.00	\$30,000.00	\$30,000.0
A3 A4	Audio / Video Taping Health and Safety Plan	LS LS	1	\$6,000.00 \$7,000.00	\$6,000.00 \$7,000.00	\$5,500.00 \$1,500.00	\$5,500.00 \$1,500.00	\$5,000.00 \$7,500.00	\$5,000.00 \$7,500.00	\$5,000.00 \$10,000.00	\$5,000.00 \$10,000.00	\$4,000.00 \$2,500.00	\$2,500.00	\$10,000.00	\$50,000.00 \$10,000.00	\$5,000.00 \$5,000.00	\$5,000.0 \$5,000.0
A5	FA - Site Cleanup For Bio. And Physical Hazards	EST	1	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.0
A6	Training	HR	1,500	\$1.00	\$1,500.00	\$3.00	\$4,500.00	\$1.00	\$1,500.00	\$5.00		\$1.00	\$1,500.00	\$2.00	\$3,000.00	\$3.00	\$4,500.0
A7 A8	SPCC Plan Type B Progress Schedule (Min. Bid \$10,000)	LS LS	1	\$5,000.00 \$10,000.00	\$5,000.00 \$10,000.00	\$1,500.00 \$10,000.00	\$1,500.00 \$10,000.00	\$1,500.00 \$10,000.00	\$1,500.00 \$10,000.00	\$7,500.00 \$10,000.00	\$7,500.00 \$10,000.00	\$500.00 \$10,000.00	\$500.00 \$10,000.00	\$5,000.00 \$10,000.00	\$5,000.00 \$10,000.00	\$5,000.00 \$10,000.00	\$5,000.00 \$10,000.00
A9	Mobilization, Schedules A,C,D,E	LS	1	\$1,440,590.00	\$1,440,590.00	\$1,000,000.00	\$1,000,000.00	\$719,000.00	\$719,000.00	\$1,810,000.00	\$1,810,000.00	\$1,773,000.00	\$1,773,000.00	\$1,708,000.00	\$1,708,000.00	\$800,000.00	\$800,000.0
A10	Field Office Building	LS	1	\$50,000.00	\$50,000.00	\$65,000.00	\$65,000.00	\$50,000.00	\$50,000.00	\$30,000.00	\$30,000.00	\$20,000.00	\$20,000.00	\$50,000.00	\$50,000.00	\$40,000.00	\$40,000.00
A11 A12	Off-Duty Uniformed Police Officer Traffic Control Supervisor	EST LS	1	\$75,000.00 \$200,000.00	\$75,000.00 \$200,000.00	\$75,000.00 \$215,000.00	\$75,000.00 \$215,000.00	\$75,000.00 \$220,000.00	\$75,000.00 \$220,000.00	\$75,000.00 \$250,000.00	\$75,000.00 \$250,000.00	\$75,000.00 \$200,000.00	\$75,000.00 \$200,000.00	\$75,000.00 \$250,000.00	\$75,000.00 \$250,000.00	\$75,000.00 \$120,000.00	\$75,000.00 \$120,000.00
A12 A13	Flaggers and Spotters	HR	14,000	\$200,000.00	\$714,000.00	\$53.50	\$749,000.00	\$50.00	\$700,000.00	\$54.00	\$756,000.00	\$200,000.00	\$728,000.00	\$67.55	\$945,700.00	\$50.00	\$700,000.0
A14	Other Traffic Control Labor	HR	3,000	\$58.00	\$174,000.00	\$53.50	\$160,500.00	\$52.00	\$156,000.00	\$58.00	\$174,000.00	\$60.00	\$180,000.00	\$65.00	\$195,000.00	\$48.00	\$144,000.00
A15	Other Temporary Traffic Control	LS	1	\$100,000.00	\$100,000.00	\$40,000.00	\$40,000.00	\$100,000.00	\$100,000.00	\$200,000.00	\$200,000.00	\$75,000.00	\$75,000.00	\$160,000.00	\$160,000.00	\$125,000.00	\$125,000.00
A16 A17	Construction Signs Class A Sequential Arrow Sign	SF HR	200 5,500	\$25.00 \$2.00	\$5,000.00 \$11,000.00	\$25.00 \$3.50	\$5,000.00 \$19,250.00	\$20.00 \$1.00	\$4,000.00 \$5,500.00	\$30.00 \$2.50	\$6,000.00 \$13,750.00	\$20.00 \$1.50	\$4,000.00 \$8,250.00	\$30.00 \$4.00	\$6,000.00 \$22,000.00	\$25.00 \$5.00	\$5,000.00 \$27,500.00
A18	Portable Changeable Message Sign	HR	25,000.00	\$1.00	\$25,000.00	\$4.00	\$100,000.00	\$1.00	\$25,000.00	\$4.00	\$100,000.00	\$2.20	\$55,000.00	\$6.50	\$162,500.00	\$1.00	\$25,000.0
A19	Business Access Sign	EA	40	\$100.00	\$4,000.00	\$350.00	\$14,000.00	\$200.00	\$8,000.00	\$400.00	\$16,000.00	\$150.00	\$6,000.00	\$350.00	\$14,000.00	\$250.00	\$10,000.0
A20 A21	Temporary No Parking Sign Clearing and Grubbing	EA LS	12	\$175.00 \$25.000.00	\$2,100.00 \$25,000.00	\$150.00 \$30.000.00	\$1,800.00 \$30,000.00	\$200.00 \$65,000.00	\$2,400.00 \$65,000.00	\$75.00 \$50.000.00	\$900.00 \$50.000.00	\$90.00 \$100.000.00	\$1,080.00 \$100.000.00	\$115.00 \$200.000.00	\$1,380.00 \$200,000.00	\$250.00 \$107.000.00	\$3,000.0 \$107,000.0
A21 A22	Roadside Cleanup	EST	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.0
A23	Removal of Structures and Obstructions	LS	1	\$50,000.00	\$50,000.00	\$100,000.00	\$100,000.00	\$150,000.00	\$150,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$40,000.00	\$40,000.00	\$60,000.00	\$60,000.0
A24	Sawcutting	SF	29,000	\$1.75	\$50,750.00	\$5.50	\$159,500.00	\$3.00	\$87,000.00	\$6.25	\$181,250.00	\$5.50	\$159,500.00	\$120.00	\$3,480,000.00	\$3.00	\$87,000.00
A25 A26	Remove Existing PSE Gas Pipe Remove Existing Catch Basin	LF EA	580 109	\$7.00 \$600.00	\$4,060.00 \$65,400.00	\$10.00 \$500.00	\$5,800.00 \$54,500.00	\$14.00 \$200.00	\$8,120.00 \$21,800.00	\$10.00 \$250.00	\$5,800.00 \$27,250.00	\$9.00 \$300.00	\$5,220.00 \$32,700.00	\$30.00 \$500.00	\$17,400.00 \$54,500.00	\$8.00 \$400.00	\$4,640.00 \$43,600.00
A27	Remove Existing Storm Sewer Pipe	LF	8,714	\$11.00	\$95,854.00	\$15.00	\$130,710.00	\$12.00	\$104,568.00	\$15.00	\$130,710.00	\$15.00	\$130,710.00	\$15.00	\$130,710.00	\$10.00	\$87,140.00
A28	Removal and Relocation of Existing Private Improvements	EST	1	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
A29	Remove Pavement Markings Gravel Borrow Incl. Haul	LS	0.220	\$40,000.00	\$40,000.00	\$29,000.00	\$29,000.00	\$30,000.00	\$30,000.00	\$28,000.00	\$28,000.00	\$5,000.00	\$5,000.00	\$30,500.00	\$30,500.00	\$25,000.00 \$18.00	\$25,000.00
A30 A31	Gravel Borrow for Trench Backfill Incl. Haul	TN	9,220 15,550	\$18.00 \$13.00	\$165,960.00 \$202,150.00	\$18.00 \$23.00	\$165,960.00 \$357,650.00	\$14.00 \$14.00	\$129,080.00 \$217,700.00	\$19.25 \$19.25	\$177,485.00 \$299.337.50	\$30.00 \$15.00	\$276,600.00 \$233,250.00	\$22.00 \$27.00	\$202,840.00 \$419,850.00	\$18.00 \$18.00	\$165,960.00 \$279,900.00
A32	Roadway Excavation Incl. Haul	CY	31,220	\$17.00	\$530,740.00	\$23.00	\$718,060.00	\$37.00	\$1,155,140.00	\$25.00	\$780,500.00	\$35.00	\$1,092,700.00	\$31.00	\$967,820.00	\$21.00	\$655,620.00
A33	Unsuitable Foundation Excavation Incl. Haul	CY	670	\$20.00	\$13,400.00	\$24.00	\$16,080.00	\$20.00	\$13,400.00	\$25.00	\$16,750.00	\$35.00	\$23,450.00	\$40.00	\$26,800.00	\$30.00	\$20,100.00
A34 A35	Removal and Disposal of Contaminated Soil Structure Excavation Class B Incl. Haul for Undergrounding of Overhead Utilities	EST CY	9,200	\$10,000.00 \$25.00	\$10,000.00 \$230,000.00	\$10,000.00 \$21.00	\$10,000.00 \$193,200.00	\$10,000.00 \$60.00	\$10,000.00 \$552,000.00	\$10,000.00 \$25.00	\$10,000.00 \$230,000.00	\$10,000.00 \$125.00	\$10,000.00 \$1,150,000.00	\$10,000.00 \$180.00	\$10,000.00 \$1,656,000.00	\$10,000.00 \$30.00	\$10,000.00 \$276,000.00
A36	Structure Excavation CI B Incl. Haul for Structural Earth Walls	CY	660	\$25.00	\$16,500.00	\$21.00	\$13,860.00	\$26.00	\$17,160.00	\$25.00	\$16,500.00	\$50.00	\$33,000.00	\$40.00	\$26,400.00	\$20.00	\$13,200.00
A37	Shoring or Extra Excavation Class B	SF	113,400	\$0.50	\$56,700.00	\$0.75	\$85,050.00	\$0.01	\$1,134.00	\$0.40	\$45,360.00	\$0.50	\$56,700.00	\$1.00	\$113,400.00	\$1.00	\$113,400.00
A38	Shoring or Extra Excavation Cl. A	LS	1 500	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$42,000.00	\$42,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00
A39 A40	Controlled Density Fill Crushed Surfacing Base Course	CY TON	500 13,360	\$100.00 \$20.00	\$50,000.00 \$267,200.00	\$110.00 \$24.00	\$55,000.00 \$320,640.00	\$85.00 \$28.00	\$42,500.00 \$374.080.00	\$125.00 \$25.00	\$62,500.00 \$334,000.00	\$85.00 \$40.00	\$42,500.00 \$534,400.00	\$120.00 \$48.00	\$60,000.00 \$641,280.00	\$100.00 \$25.00	\$50,000.00 \$334.000.00
A41	Temporary Pavement	TON	1,000	\$135.00	\$135,000.00	\$140.00	\$140,000.00	\$100.00	\$100,000.00	\$125.00	\$125,000.00	\$215.00	\$215,000.00	\$175.00	\$175,000.00	\$100.00	\$100,000.00
A42	HMA Cl. 1/2" PG 64-22 HMA for Preleveling Cl. 1/2" PG 64-22	TON	9,230	\$71.00	\$655,330.00	\$67.00	\$618,410.00	\$65.00	\$599,950.00	\$66.25 \$66.25	\$611,487.50	\$72.00	\$664,560.00	\$72.00	\$664,560.00	\$85.00 \$80.00	\$784,550.00
A43 A44	HMA CI. 1" PG 64-22	TON TON	9,100 8,960	\$71.00 \$71.00	\$646,100.00 \$636,160.00	\$62.50 \$64.60	\$568,750.00 \$578,816.00	\$65.00 \$60.00	\$591,500.00 \$537,600.00	\$62.50	\$602,875.00 \$560,000.00	\$67.00 \$70.00	\$609,700.00 \$627,200.00	\$66.00 \$69.50	\$600,600.00 \$622,720.00	\$70.00	\$728,000.00 \$627,200.00
A45	Commercial HMA PG 64-22	TON	850	\$110.00	\$93,500.00	\$120.00	\$102,000.00	\$150.00	\$127,500.00	\$161.50	\$137,275.00	\$110.00	\$93,500.00	\$110.00	\$93,500.00	\$95.00	\$80,750.00
	Planing Bituminous Pavement	SY	47,890	\$2.20	\$105,358.00	\$2.10	\$100,569.00	\$4.00	\$191,560.00	\$4.15		\$3.00		\$2.75		\$3.00	\$143,670.00
A47 A48	Decorative Stamped Concrete Pavement Cement Concrete Fill Wall	SY CY	540 20	\$180.00 \$1,250.00	\$97,200.00 \$25,000.00	\$170.00 \$800.00	\$91,800.00 \$16.000.00	\$120.00 \$850.00	\$64,800.00 \$17.000.00	\$210.00 \$1,200.00		\$100.00 \$2.500.00	\$54,000.00 \$50,000.00	\$125.00 \$1,300.00	\$67,500.00 \$26,000.00	\$150.00 \$600.00	\$81,000.00 \$12.000.00
A49	Cement Conc. Pedestrian Ramp	LS	1	\$27,000.00	\$27,000.00	\$4,000.00	\$4,000.00	\$14,000.00	\$14,000.00	\$23,100.00		\$15,000.00	\$15,000.00	\$18,000.00	\$18,000.00	\$20,000.00	\$20,000.00
A50	Temporary Conc. Barrier	LF	500	\$20.00	\$10,000.00	\$30.00	\$15,000.00	\$1.00	\$500.00	\$16.00	\$8,000.00	\$15.00		\$20.00	\$10,000.00	\$25.00	\$12,500.00
A51	Structural Earth Wall Modular Block Wall	SF SF	2,210	\$28.00	\$61,880.00	\$22.00 \$24.00	\$48,620.00	\$24.00	\$53,040.00	\$20.00		\$30.00	\$66,300.00 \$104.100.00		. ,	\$30.00	\$66,300.00
A52 A53	Backfill for Structural Earth Wall Incl. Haul	CY	3,470 710	\$19.00 \$48.00	\$65,930.00 \$34,080.00	\$24.00 \$40.00	\$83,280.00 \$28,400.00	\$24.00 \$37.00	\$83,280.00 \$26,270.00	\$20.00 \$40.00		\$30.00 \$30.00	\$104,100.00 \$21,300.00	\$18.00 \$30.00	\$62,460.00 \$21,300.00	\$20.00 \$25.00	\$69,400.00 \$17,750.00
A54	Shaft - 30 Inch Diameter	LF	1,800	\$95.00	\$171,000.00	\$87.00	\$156,600.00	\$100.00	\$180,000.00	\$85.00		\$105.00	\$189,000.00	\$80.00	\$144,000.00	\$109.00	\$196,200.00
A55	Furnishing Soldier Pile - W14x30 Flange Beams	LF	440	\$50.00	\$22,000.00	\$40.00	\$17,600.00	\$40.00	\$17,600.00	\$50.00		\$40.00	\$17,600.00	\$50.00	\$22,000.00	\$28.00	\$12,320.00
A56 A57	Furnishing Soldier Pile - W14x38 Flange Beams Furnishing Soldier Pile - W14x48 Flange Beams	LF LF	495 600	\$43.00 \$37.00	\$21,285.00 \$22,200.00	\$51.00 \$47.00	\$25,245.00 \$28,200.00	\$50.00 \$50.00	\$24,750.00 \$30.000.00	\$42.00 \$36.00		\$55.00 \$50.00	\$27,225.00 \$30.000.00	\$42.00 \$36.00	\$20,790.00 \$21,600.00	\$35.60 \$44.90	\$17,622.00 \$26,940.00
A57 A58	Furnishing Soldier Pile - W14x46 Flange Beams Furnishing Soldier Pile - W14x61 Flange Beams	LF LF	300	\$37.00	\$22,200.00	\$47.00 \$62.00	\$28,200.00	\$60.00	\$30,000.00	\$35.00		\$50.00 \$67.00	\$30,000.00	\$36.00		\$44.90 \$54.05	\$26,940.00
A59	Furnishing Soldier Pile - W14x74 Flange Beams	LF	150	\$32.00	\$4,800.00	\$74.00	\$11,100.00	\$70.00	\$10,500.00	\$32.50		\$80.00	\$12,000.00	\$31.00		\$69.25	\$10,387.50
A60	Timber Lagging	SF	4,900	\$15.00	\$73,500.00	\$21.00	\$102,900.00	\$14.00	\$68,600.00	\$13.00		\$16.00	\$78,400.00	\$13.00	\$63,700.00	\$10.00	\$49,000.00
A61 A62	Prefabricated Drainage Mat Concrete Fascia Panel	SY SF	320 4,820	\$41.00 \$55.00	\$13,120.00 \$265,100.00	\$12.00 \$112.00	\$3,840.00 \$539,840.00	\$15.00 \$60.00	\$4,800.00 \$289,200.00	\$15.00 \$90.00		\$14.00 \$65.00	\$4,480.00 \$313,300.00	\$32.00 \$40.00	\$10,240.00 \$192,800.00	\$4.50 \$30.00	\$1,440.00 \$144,600.00
A62 A63	Removing Soldier Pile Shaft Obstructions	EST	4,o20 1	\$10,000.00	\$265,100.00	\$10,000.00	\$539,840.00	\$10,000.00	\$289,200.00	\$10,000.00		\$10,000.00	\$313,300.00	\$40.00	\$192,800.00	\$10,000.00	\$144,600.00
A64	Handrailing	LF	220	\$120.00	\$26,400.00	\$120.00	\$26,400.00	\$150.00	\$33,000.00	\$125.00		\$75.00		\$150.00	\$33,000.00	\$100.00	\$22,000.00
A65	Drain Pipe 6 In. Diam.	LF	750	\$18.00	\$13,500.00	\$36.00	\$27,000.00	\$10.00	\$7,500.00			\$36.00	\$27,000.00		\$48,750.00	\$25.00	\$18,750.00
A66 A67	Reconnect Existing Misc. Drainage Stormwater Interception Trench	EST LF	1 524	\$10,000.00	\$10,000.00 \$18,340.00	\$10,000.00 \$50.00	\$10,000.00	\$10,000.00 \$55.00	\$10,000.00	\$10,000.00 \$45.75	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00 \$64.00	\$10,000.00 \$33,536,00	\$10,000.00 \$50.00	\$10,000.00
A67 A68	Ductile Iron Storm Sewer Pipe 8 In. Diam	LF LF	293	\$35.00 \$50.00	\$18,340.00 \$14.650.00	\$50.00 \$60.00	\$26,200.00 \$17,580.00	\$55.00 \$55.00	\$28,820.00 \$16.115.00	\$45.75	\$23,973.00 \$14,650.00	\$50.00 \$64.00	\$26,200.00 \$18,752.00		\$33,536.00 \$22,854.00	\$50.00 \$65.00	\$26,200.00 \$19.045.00
A69	Class IV Reinf. Conc. Storm Sewer Pipe 12 In. Diam.	LF	6,021	\$58.00	\$349,218.00	\$52.00	\$313,092.00	\$65.00	\$391,365.00		+ /	\$68.00	\$409,428.00		* /	\$50.00	\$301,050.00
A70	Class IV Reinf. Conc. Storm Sewer Pipe 18 In. Diam.	LF	4,849	\$79.00	\$383,071.00	\$83.50	\$404,891.50	\$75.00	\$363,675.00			\$82.00				\$75.00	\$363,675.00
A71	Class IV Reinf. Conc. Storm Sewer Pipe 24 In. Diam.	LF	203	\$89.00	\$18,067.00	\$140.00	\$28,420.00	\$100.00	\$20,300.00	\$94.00	\$19,082.00	\$127.00	\$25,781.00	\$92.00	\$18,676.00	\$90.00	\$18,270.00

Vendor Name>			Bid #1 Graham Contracting Ltd.		Bid #2 SCI Infrastructure		Bid #3 Cecanti		Bid #4 Scarsella Bros.,Inc.		Bid #5 Gary Merlino Construction Co. Inc		,		Engineers	Estimate
Location>		APPROX.	Seattl	e, WA	Seattle	e, WA	Taco	ma, WA	Seatt	tle, WA	Kent	t, WA	Kirklar	nd, WA		
ITEM NO. ITEM	UNIT	QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
A72 Catch Basin Type 1	EA	49	\$1,650.00	\$80,850.00	\$1,400.00	\$68,600.00	\$1,160.00	\$56,840.00	\$1,340.00	\$65,660.00	\$2,000.00	\$98,000.00	\$1,670.00	\$81,830.00	\$1,300.00	\$63,700.00
A73 Catch Basin Type 1L A74 Catch Basin Type 2 48 In. Diam.	EA EA	35 59	\$1,800.00 \$3,000.00	\$63,000.00 \$177,000.00	\$2,000.00 \$2,900.00	\$70,000.00 \$171,100.00	\$1,260.00 \$3,600.00	\$44,100.00 \$212,400.00	\$1,450.00 \$2,675.00	\$50,750.00 \$157,825.00	\$2,400.00 \$4,100.00	\$84,000.00 \$241,900.00	\$1,670.00 \$3,180.00	\$58,450.00 \$187,620.00	\$1,500.00 \$3,000.00	\$52,500.00 \$177,000.00
A75 Catch Basin Type 2 54 In. Diam.	EA	1	\$4,500.00	\$4,500.00	\$4,200.00	\$4,200.00	\$4,500.00	\$4,500.00	\$3,400.00	\$3,400.00	\$4,000.00	\$4,000.00	\$3,900.00	\$3,900.00	\$3,500.00	\$3,500.00
A76 Catch Basin Type 2 54 In. Diam. with Flow Restrictor A77 Catch Basin Type 2 72 In. Diam. with Flow Restrictor	EA EA	1	\$7,500.00 \$7,500.00	\$7,500.00 \$7,500.00	\$5,200.00 \$8,400.00	\$5,200.00 \$8,400.00	\$8,300.00 \$9,200.00	\$8,300.00 \$9,200.00	\$5,800.00 \$11,150.00	\$5,800.00 \$11,150.00	\$6,700.00 \$12,000.00	\$6,700.00 \$12,000.00	\$5,180.00 \$8,860.00	\$5,180.00 \$8,860.00	\$6,000.00 \$8,000.00	\$6,000.00 \$8,000.00
A78 Adjust Existing Storm Drainage Structure	EA	24	\$1,200.00	\$28,800.00	\$1,000.00	\$24,000.00	\$800.00	\$19,200.00	\$1,000.00	\$24,000.00	\$300.00	\$7,200.00	\$400.00	\$9,600.00	\$1,000.00	\$24,000.00
A79 Adjust Monitoring Well	EA	1	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$850.00	\$850.00	\$600.00	\$600.00	\$500.00	\$500.00	\$400.00	\$400.00	\$350.00	\$350.00
A80 Adjust Gas Valve A81 Reconstruct Storm Drainage Structure	EA EA	19 14	\$750.00 \$2.000.00	\$14,250.00 \$28,000.00	\$500.00 \$2,000.00	\$9,500.00 \$28,000.00	\$350.00 \$3,000.00	\$6,650.00 \$42,000.00	\$425.00 \$1,975.00	\$8,075.00 \$27,650.00	\$400.00 \$2.500.00	\$7,600.00 \$35,000.00	\$300.00 \$2.500.00	\$5,700.00 \$35,000.00	\$350.00 \$2.000.00	\$6,650.00 \$28,000.00
A82 Adjust Stormfilter and Flow Splitter Vaults to Grade	LS	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$2,700.00	\$2,700.00	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00	\$900.00	\$900.00	\$3,000.00	\$3,000.00
A83 Connection to Existing Drainage Structure A84 Install Solid Cover on Existing Type 1 Catch Basin	EA EA	25 6	\$1,000.00 \$1,400.00	\$25,000.00 \$8,400.00	\$350.00 \$800.00	\$8,750.00 \$4,800.00	\$450.00 \$450.00	\$11,250.00 \$2,700.00	\$1,500.00 \$450.00	\$37,500.00 \$2,700.00	\$750.00 \$1,100.00	\$18,750.00 \$6,600.00	\$2,400.00 \$650.00	\$60,000.00 \$3,900.00	\$1,000.00 \$1,000.00	\$25,000.00 \$6,000.00
A85 Stormwater Detention Pond	LS	1	\$100,000.00	\$100,000.00	\$175,000.00	\$175,000.00	\$105,000.00	\$105,000.00	\$70,000.00	\$70,000.00	\$130,000.00	\$130,000.00	\$125,000.00	\$125,000.00	\$130,000.00	\$130,000.00
A86 Relocate Reduced Pressure Backflow Device A87 Split Steel Casing 20 In. Diam.	EA LF	20	\$5,000.00 \$330.00	\$5,000.00 \$6,600.00	\$5,000.00 \$275.00	\$5,000.00 \$5,500.00	\$850.00 \$115.00	\$850.00 \$2,300.00	\$3,400.00 \$265.00	\$3,400.00 \$5,300.00	\$7,000.00 \$190.00	\$7,000.00 \$3,800.00	\$2,500.00 \$240.00	\$2,500.00 \$4,800.00	\$1,000.00 \$275.00	\$1,000.00 \$5,500.00
A88 Catch Basin Insert for Oil Control	EA	27	\$775.00	\$20,925.00	\$820.00	\$22,140.00	\$700.00	\$18,900.00	\$1,300.00	\$35,100.00	\$700.00	\$18,900.00	\$725.00	\$19,575.00	\$1,200.00	\$32,400.00
A89 Stormwater Media Filter (Filterra or Modular Wetland Unit)	EA	16	\$17,000.00	\$272,000.00	\$18,000.00	\$288,000.00	\$17,000.00	\$272,000.00	\$16,500.00	\$264,000.00	\$16,000.00	\$256,000.00	\$15,240.00	\$243,840.00	\$20,000.00	\$320,000.00
A90 Modular Wetland 4 x 4 A91 Modular Wetland 4 x 6	EA EA	13	\$18,000.00 \$20.000.00	\$234,000.00 \$40.000.00	\$17,250.00 \$16,000.00	\$224,250.00 \$32,000.00	\$18,000.00 \$20,000.00	\$234,000.00 \$40,000.00	\$18,610.00 \$21,150.00	\$241,930.00 \$42,300.00	\$17,000.00 \$20,000.00	\$221,000.00 \$40,000.00	\$16,280.00 \$18,940.00	\$211,640.00 \$37,880.00	\$20,000.00 \$22,000.00	\$260,000.00 \$44,000.00
A92 Modular Wetland 4 x 15	EA	2	\$48,000.00	\$96,000.00	\$50,000.00	\$100,000.00	\$60,000.00	\$120,000.00	\$56,150.00	\$112,300.00	\$54,000.00	\$108,000.00	\$51,000.00	\$102,000.00	\$43,000.00	\$86,000.00
A93 Stormwater Pollution Prevention Plan A94 Temporary Detention/Retention SWPPP Control Facilities	LS LS	1	\$80,000.00 \$60,000.00	\$80,000.00 \$60,000.00	\$1,500.00 \$40,000.00	\$1,500.00 \$40,000.00	\$800.00 \$230,000.00	\$800.00 \$230,000.00	\$10,000.00 \$100,000.00	\$10,000.00 \$100,000.00	\$125,000.00 \$55,000.00	\$125,000.00 \$55,000.00	\$5,000.00 \$319,700.00	\$5,000.00 \$319,700.00	\$10,000.00 \$60,000.00	\$10,000.00 \$60,000.00
A95 ESC Lead	DAY	350	\$75.00	\$26,250.00	\$80.00	\$28,000.00	\$5.00	\$1,750.00	\$200.00	\$70,000.00	\$45.00	\$15,750.00	\$50.00	\$17,500.00	\$50.00	\$17,500.00
A96 Biodegradable Erosion Control Blanket	SY	2,778	\$2.00	\$5,556.00	\$3.00	\$8,334.00	\$3.00	\$8,334.00	\$4.00	\$11,112.00	\$3.00	\$8,334.00	\$4.00	\$11,112.00	\$3.00	\$8,334.00
A97 Inlet Protection A98 Stabilized Construction Entrance	EA SY	316 300	\$55.00 \$27.00	\$17,380.00 \$8,100.00	\$80.00 \$12.00	\$25,280.00 \$3,600.00	\$80.00 \$30.00	\$25,280.00 \$9,000.00	\$100.00 \$20.00	\$31,600.00 \$6,000.00	\$80.00 \$30.00	\$25,280.00 \$9,000.00	\$85.00 \$34.00	\$26,860.00 \$10,200.00	\$75.00 \$40.00	\$23,700.00 \$12,000.00
A99 Silt Fence	LF	2,900	\$6.00	\$17,400.00	\$4.50	\$13,050.00	\$4.00	\$11,600.00	\$6.00	\$17,400.00	\$5.00	\$14,500.00	\$7.00	\$20,300.00	\$5.00	\$14,500.00
A100 Wattle A101 Temporary Curb	LF I F	1,000 5,000	\$3.00 \$4.00	\$3,000.00 \$20,000.00	\$3.00 \$8.00	\$3,000.00 \$40,000.00	\$4.00 \$5.00	\$4,000.00 \$25,000.00	\$6.00 \$6.00	\$6,000.00 \$30,000.00	\$5.00 \$10.00	\$5,000.00 \$50,000.00	\$4.00 \$6.00	\$4,000.00 \$30,000.00	\$3.00 \$5.00	\$3,000.00 \$25,000.00
A102 High Visibility Fence	LF	3,404	\$3.00	\$10,212.00	\$4.00	\$13,616.00	\$2.00	\$6,808.00	\$4.00	\$13,616.00	\$3.00	\$10,212.00	\$4.00	\$13,616.00	\$5.00	\$17,020.00
A103 Seeding and Fertilizing	AC	1	\$4,000.00	\$4,000.00	\$2,600.00	\$2,600.00	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00	\$9,680.00	\$9,680.00
A104 Mulching with Moderate Term Mulch A105 Topsoil, Type A	AC CY	2,025.00	\$4,500.00 \$37.00	\$4,500.00 \$74,925.00	\$3,500.00 \$34.00	\$3,500.00 \$68,850.00	\$5,000.00 \$35.00	\$5,000.00 \$70,875.00	\$3,500.00 \$40.00	\$3,500.00 \$81,000.00	\$1,100.00 \$43.00	\$1,100.00 \$87,075.00	\$5,000.00 \$38.00	\$5,000.00 \$76,950.00	\$7,260.00 \$40.00	\$7,260.00 \$81,000.00
A106 Bark Mulch	CY	360	\$61.00	\$21,960.00	\$46.50	\$16,740.00	\$60.00	\$21,600.00	\$40.00	\$14,400.00	\$55.00	\$19,800.00	\$66.00	\$23,760.00	\$40.00	\$14,400.00
A107 Fine Compost A108 Seeded Lawn Installation	SY	245 670	\$61.00 \$2.00	\$14,945.00 \$1,340.00	\$40.00 \$1.00	\$9,800.00 \$670.00	\$60.00 \$2.00	\$14,700.00 \$1,340.00	\$40.00 \$3.00	\$9,800.00 \$2,010.00	\$50.00 \$1.50	\$12,250.00 \$1.005.00	\$66.00 \$2.00	\$16,170.00 \$1,340.00	\$50.00 \$2.50	\$12,250.00 \$1,675.00
A109 Sod Installation	SY	3,850	\$9.00	\$34,650.00	\$7.00	\$26,950.00	\$9.00	\$34,650.00	\$6.00	\$23,100.00	\$10.00	\$38,500.00	\$10.00	\$38,500.00	\$5.00	\$19,250.00
A110 PSIPE, Acer x freemanii 'Jeffersred'/ Autumn Blaze Maple; 2.5" Cal., 12'-14' Ht. A111 PSIPE, Fraxinus oxycarpa 'Raywood'/ Raywood Ash; 2.5" Cal., 12'-14' Ht.	EA EA	112 19.00	\$425.00 \$425.00	\$47,600.00 \$8,075.00	\$340.00 \$300.00	\$38,080.00 \$5,700.00	\$400.00 \$420.00	\$44,800.00 \$7,980.00	\$350.00 \$400.00	\$39,200.00 \$7,600.00	\$400.00 \$370.00	\$44,800.00 \$7,030.00	\$400.00 \$450.00	\$44,800.00 \$8,550.00	\$400.00 \$400.00	\$44,800.00 \$7,600.00
A112 PSIPE, Pyrus calleryana 'Glen's Form'/ Chanticleer Pear; 2.5" Cal., 12'-14' Ht.	EA	11	\$450.00	\$4,950.00	\$300.00	\$3,300.00	\$440.00	\$4,840.00	\$400.00	\$4,400.00	\$370.00	\$4,070.00	\$450.00	\$4,950.00	\$400.00	\$4,400.00
A113 PSIPE, Malus 'Adirondack'/ Adirondack Crabapple; 2" Cal., 10'-12' Ht.	EA	36	\$290.00	\$10,440.00	\$300.00	\$10,800.00	\$280.00	\$10,080.00	\$400.00	\$14,400.00	\$370.00	\$13,320.00	\$300.00	\$10,800.00	\$350.00	\$12,600.00
A114 PSIPE, Calocedrus decurrens/ Incense Cedar; 7'-8' Ht. A115 PSIPE, Physocarpus opulifolius 'Little Devil'/ Little Devil Ninebark; 15"-18" Ht.	EA EA	22 142	\$225.00 \$37.00	\$4,950.00 \$5,254.00	\$220.00 \$27.00	\$4,840.00 \$3,834.00	\$220.00 \$36.00	\$4,840.00 \$5,112.00	\$400.00 \$15.00	\$8,800.00 \$2,130.00	\$250.00 \$45.00	\$5,500.00 \$6,390.00	\$250.00 \$40.00	\$5,500.00 \$5,680.00	\$225.00 \$28.00	\$4,950.00 \$3,976.00
A116 PSIPE, Cornus stolonifera 'Farrow'/ Arctic Fire Red-Twig Dogwood; 15"-18" Ht.	EA	64	\$25.00	\$1,600.00	\$44.00	\$2,816.00	\$24.00	\$1,536.00	\$15.00	\$960.00	\$53.00	\$3,392.00	\$25.00	\$1,600.00	\$28.00	\$1,792.00
A117 PSIPE, Cistus x hybridus/ White Rockrose; 15"-18" Ht. A118 PSIPE, Rhododendron 'Dora Amateis' Dora Amateis Rhododendron; 2 Gal. Cont.	EA EA	127 291	\$32.00 \$25.00	\$4,064.00 \$7,275.00	\$26.00 \$23.00	\$3,302.00 \$6,693.00	\$30.00 \$24.00	\$3,810.00 \$6,984.00	\$15.00 \$15.00	\$1,905.00 \$4,365.00	\$43.00 \$37.00	\$5,461.00 \$10,767.00	\$32.00 \$25.00	\$4,064.00 \$7,275.00	\$28.00 \$22.00	\$3,556.00 \$6,402.00
A119 PSIPE, Spiraea betulifolia 'Tor'/ Tor Birchleaf Spirea; 2 Gal. Cont.	EA	162	\$21.00	\$3,402.00	\$19.00	\$3,078.00	\$20.00	\$3,240.00	\$15.00	\$2,430.00	\$31.00	\$5,022.00	\$20.00	\$3,240.00	\$22.00	\$3,564.00
A120 PSIPE, Viburnum davidii/ David Viburnum; 2 Gal. Cont. A121 PSIPE, Berberis thunbergii 'Gentry'/ Royal Cloak Barberry; 2 Gal. Cont.	EA	152	\$21.00	\$3,192.00	\$19.00	\$2,888.00	\$20.00	\$3,040.00	\$20.00	\$3,040.00	\$31.00	\$4,712.00		\$3,040.00	\$22.00	\$3,344.00
A121 PSIPE, Berberts trumbergir Gentry / Royar Cloak Barberry, 2 Gal. Cont. A122 PSIPE, Nandina domestica 'Jaytee' / Harbor Belle Heavenly Bamboo; 2 Gal. Cont.	EA EA	296 484	\$29.00 \$21.00	\$8,584.00 \$10,164.00	\$21.00 \$21.00	\$6,216.00 \$10,164.00	\$28.00 \$20.00	\$8,288.00 \$9,680.00	\$20.00 \$20.00	\$5,920.00 \$9,680.00	\$36.00 \$36.00	\$10,656.00 \$17,424.00	\$30.00 \$20.00	\$8,880.00 \$9,680.00	\$22.00 \$22.00	\$6,512.00 \$10,648.00
A123 PSIPE, Festuca idahoensis 'Siskiyou Blue'/ Idaho Blue Fescue; 1 Gal. Cont.	EA	1,235	\$7.00	\$8,645.00	\$8.50	\$10,497.50	\$7.00	\$8,645.00	\$8.00	\$9,880.00	\$13.00	\$16,055.00	\$7.00	\$8,645.00	\$10.00	\$12,350.00
A124 PSIPE, Sesleria autumnalis/ Autumn Moor Grass; 1 Gal. Cont. A125 PSIPE, Rubus calycinoides 'Golden Quilt' Golden Quilt Creeping Bramble; 1 Gal.	EA EA	1,205 1,235	\$7.00 \$10.00	\$8,435.00 \$12,350.00	\$8.50 \$9.50	\$10,242.50 \$11,732.50	\$7.00 \$10.00	\$8,435.00 \$12,350.00	\$8.00 \$8.00	\$9,640.00 \$9,880.00	\$14.00 \$13.00	\$16,870.00 \$16,055.00	\$7.00 \$10.00	\$8,435.00 \$12,350.00	\$10.00 \$8.00	\$12,050.00 \$9,880.00
A126 PSIPE, Prunus laurocerasus 'Mount Vernon'/ Mount Vernon Laurel; 1 Gal. Cont.	EA	1,260	\$10.00	\$12,600.00	\$9.50	\$11,970.00	\$10.00	\$12,600.00	\$10.00	\$12,600.00	\$17.00	\$21,420.00	\$10.00	\$12,600.00	\$8.00	\$10,080.00
A127 PSIPE, Pseudotsuga menziesii/ Douglas Fir; 5 Gal. Cont. A128 PSIPE, Betula papyrifera/ Paper Birch; 5 Gal. Cont.	EA EA	30 16	\$29.00 \$29.00	\$870.00 \$464.00	\$24.00 \$25.00	\$720.00 \$400.00	\$28.00 \$28.00	\$840.00 \$448.00	\$35.00 \$35.00	\$1,050.00 \$560.00	\$36.00 \$42.00	\$1,080.00 \$672.00	\$30.00 \$30.00	\$900.00 \$480.00	\$25.00 \$25.00	\$750.00 \$400.00
A129 PSIPE, Amelanchier alnifolia/ Serviceberry; 2 Gal. Cont.	EA	20	\$19.00	\$380.00	\$15.00	\$300.00	\$18.00	\$360.00	\$35.00	\$700.00	\$37.00	\$740.00	\$20.00	\$400.00	\$18.00	\$360.00
A130 PSIPE, Rhamnus purshiana/ Cascara/; 2 Gal. Cont. A131 PSIPE, Ribes sanguineum/ Red Flowering Currant; 1 Gal. Cont.	EA EA	14 48	\$19.00 \$10.00	\$266.00 \$480.00	\$15.00 \$8.50	\$210.00 \$408.00	\$18.00 \$10.00	\$252.00 \$480.00	\$10.00 \$8.00	\$140.00 \$384.00	\$39.00 \$14.00	\$546.00 \$672.00	\$20.00 \$10.00	\$280.00 \$480.00	\$18.00 \$8.00	\$252.00 \$384.00
A132 PSIPE, Halodiscus discolor/ Oceanspray; 1 Gal. Cont.	EA	45	\$8.00	\$360.00	\$8.50	\$382.50	\$8.00	\$360.00	\$8.00	\$360.00	\$13.00	\$585.00	\$8.00	\$360.00	\$8.00	\$360.00
A133 PSIPE, Vaccinium ovatum/ Evergreen Huckleberry; 1 Gal. Cont.	EA	83	\$9.00	\$747.00	\$9.50	\$788.50	\$9.00	\$747.00	\$8.00	\$664.00	\$18.00	\$1,494.00	\$10.00	\$830.00	\$8.00	\$664.00
A134 PSIPE, Symphoricarpos albus/ Snowberry; 1 Gal. Cont. A135 PSIPE, Mahonia aquifolium/ Tall Oregon Grape; 1 Gal. Cont.	EA EA	121 121	\$7.00 \$7.00	\$847.00 \$847.00	\$8.50 \$8.50	\$1,028.50 \$1,028.50	\$7.00 \$7.00	\$847.00 \$847.00	\$8.00 \$8.00	\$968.00 \$968.00	\$13.00 \$13.00	\$1,573.00 \$1,573.00		\$968.00 \$968.00	\$8.00 \$8.00	\$968.00 \$968.00
A136 Property Restoration	EST	1	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
A137 Automatic Irrigation System, Complete A138 Repair Existing Irrigation System	LS EST	1	\$150,000.00 \$10,000.00	\$150,000.00 \$10,000.00	\$190,000.00 \$10,000.00	\$190,000.00 \$10,000.00	\$200,000.00 \$10,000.00	\$200,000.00 \$10,000.00	\$145,550.00 \$10,000.00	\$145,550.00 \$10.000.00	\$265,000.00 \$10,000.00	\$265,000.00 \$10,000.00	\$152,000.00 \$10,000.00	\$152,000.00 \$10,000.00	\$150,000.00 \$10.000.00	\$150,000.00 \$10,000.00
A138 Repair Existing Irrigation System A139 Lakehaven Utility District Connection Fee	EST	1 1	\$20,000.00	\$10,000.00	\$20,000.00	\$10,000.00	\$10,000.00	\$20,000.00	\$10,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
A140 Integral Curb	SF	400	\$32.00	\$12,800.00	\$33.00	\$13,200.00	\$20.00	\$8,000.00	\$44.10	\$17,640.00	\$29.00	\$11,600.00	\$30.00	\$12,000.00	\$25.00	\$10,000.00
A141 Extruded Curb, Type 6 A142 Bumper Curb	LF LF	11,800 400	\$8.00 \$10.00	\$94,400.00 \$4,000.00	\$7.20 \$10.00	\$84,960.00 \$4,000.00	\$7.00 \$9.00	\$82,600.00 \$3,600.00	\$7.00 \$9.00	\$82,600.00 \$3,600.00	\$8.00 \$10.00	\$94,400.00 \$4,000.00	\$10.00 \$15.00	\$118,000.00 \$6,000.00	\$6.00 \$15.00	\$70,800.00 \$6,000.00
A143 Cement Conc. Traffic Curb and Gutter	LF	12,600	\$10.00	\$126,000.00	\$12.00	\$151,200.00	\$30.00	\$378,000.00	\$14.50	\$182,700.00	\$30.00	\$378,000.00	\$30.00	\$378,000.00	\$12.00	\$151,200.00
A144 Cement Conc. Pavement Approach 3-Day A145 Precast Sloped Mountable Curb	SY LF	3,100	\$42.00 \$33.00	\$130,200.00	\$60.00 \$21.60	\$186,000.00	\$65.00	\$201,500.00	\$58.80 \$31.00	\$182,280.00 \$35,700.00	\$100.00 \$23.00	\$310,000.00	\$60.00 \$35.00	\$186,000.00	\$50.00 \$25.00	\$155,000.00 \$43,500.00
A 140 Frecast Stoped Infountable Curb		1,700	\$23.00	\$39,100.00	\$21.60	\$36,720.00	\$20.00	\$34,000.00	\$21.00	\$35,700.00	\$23.00	\$39,100.00	\$35.00	\$59,500.00	\$25.00	\$42,500.00

Vendor Name> Location>				Bid #1 Graham Contracting Ltd. Seattle, WA		Bid #2 SCI Infrastructure Seattle, WA		Bid #3 Cecanti Tacoma, WA		Bid #4 Scarsella Bros.,Inc. Seattle, WA		Bid #5 Gary Merlino Construction Co. Inc Kent, WA		Bid #6 c. MidMountain Contractors, Inc. Kirkland, WA		Engineer	s Estimate
ITEM NO.	ITEM	UNIT	APPROX. QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
	Raised Pavement Marker Type 2	HUN	20	\$350.00	\$7,000.00	\$320.00	\$6,400.00	\$500.00	\$10,000.00	\$300.00	\$6,000.00	\$330.00	\$6,600.00	\$325.00	\$6,500.00	\$350.00	\$7,000.00
A147	Median Guidepost	EA	14	\$70.00	\$980.00	\$75.00	\$1,050.00	\$62.00	\$868.00	\$62.00	\$868.00	\$60.00	\$840.00	\$70.00	\$980.00	\$110.00	\$1,540.00
A148 A149	Black Vinyl Coated Chain Link Fence Sliding Gate with 36" Opening	LF EA	3,900 5	\$25.00 \$500.00	\$97,500.00 \$2,500.00	\$31.00 \$2,250.00	\$120,900.00 \$11,250.00	\$30.00 \$4,000.00	\$117,000.00 \$20,000.00	\$31.00 \$2,300.00	\$120,900.00 \$11,500.00	\$30.00 \$2,200.00	\$117,000.00 \$11.000.00	\$32.00 \$2,400.00	\$124,800.00 \$12,000.00	\$25.00 \$2,000.00	\$97,500.00 \$10,000.00
A149 A150	Temporary Security Fencing	LF	1,400	\$10.00	\$14,000.00	\$3.50	\$4,900.00	\$4.00	\$5,600.00	\$5.00	\$7,000.00	\$5.00	\$7,000.00	\$3.00	\$4,200.00	\$2,000.00	\$14,000.00
A151	Adjust Monument Case and Cover	EA	6	\$750.00	\$4,500.00	\$550.00	\$3,300.00	\$400.00	\$2,400.00	\$350.00	\$2,100.00	\$500.00	\$3,000.00	\$350.00	\$2,100.00	\$500.00	\$3,000.00
A152	Monument Case and Cover	EA	2	\$1,000.00	\$2,000.00	\$600.00	\$1,200.00	\$400.00	\$800.00	\$500.00	\$1,000.00	\$900.00	\$1,800.00	\$500.00	\$1,000.00	\$500.00	\$1,000.00
A153	Thickened Edge Sidewalk	LF	1,770	\$37.00	\$65,490.00	\$40.00	\$70,800.00	\$14.00	\$24,780.00	\$42.00	\$74,340.00	\$20.00	\$35,400.00	\$5.00	\$8,850.00	\$30.00	\$53,100.00
A154	Cement Conc. Sidewalk	SY	9,330	\$24.00	\$223,920.00	\$23.75	\$221,587.50	\$28.00	\$261,240.00	\$32.75	\$305,557.50	\$50.00	\$466,500.00	\$35.00	\$326,550.00	\$30.00	\$279,900.00
A155 A156	Cement Conc. Perpendicular Curb Ramp Cement Conc. Parallel Curb Ramp	EA EA	25 3	\$965.00 \$1.300.00	\$24,125.00 \$3,900.00	\$975.00 \$1,250.00	\$24,375.00 \$3,750.00	\$1,600.00 \$1,600.00	\$40,000.00 \$4,800.00	\$1,300.00 \$1,800.00	\$32,500.00 \$5,400.00	\$1,700.00 \$1,700.00	\$42,500.00 \$5,100.00	\$1,750.00 \$1,900.00	\$43,750.00 \$5,700.00	\$1,500.00 \$1,500.00	\$37,500.00 \$4,500.00
A157	Cement Conc. Single Direction Curb Ramp	EA	6	\$1,400.00	\$8,400.00	\$1,350.00	\$8,100.00	\$1,600.00	\$9,600.00	\$1,900.00	\$11,400.00	\$1,700.00	\$10,200.00	\$1,900.00	\$11,400.00	\$1,500.00	\$9,000.00
A158	Cement Conc. Combination Curb Ramp	EA	1	\$1,400.00	\$1,400.00	\$1,350.00	\$1,350.00	\$1,600.00	\$1,600.00	\$1,900.00	\$1,900.00	\$1,700.00	\$1,700.00	\$2,750.00	\$2,750.00	\$1,500.00	\$1,500.00
A159	Cement Concrete Steps and Landing	LS	1	\$4,000.00	\$4,000.00	\$29,500.00	\$29,500.00	\$6,600.00	\$6,600.00	\$4,750.00	\$4,750.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$10,000.00	\$10,000.00
A160	Bus Shelter Footing	EA	5	\$1,100.00	\$5,500.00	\$2,700.00	\$13,500.00	\$2,800.00	\$14,000.00	\$2,000.00	\$10,000.00	\$2,000.00	\$10,000.00	\$1,000.00	\$5,000.00	\$1,500.00	\$7,500.00
A161	Quarry Spalls	TN	50	\$50.00	\$2,500.00	\$50.00	\$2,500.00	\$37.00	\$1,850.00	\$50.00	\$2,500.00	\$60.00	\$3,000.00	\$45.00	\$2,250.00	\$90.00	\$4,500.00
A162 A163	Relocate Mailbox Traffic Signal System Modifications - Pacific Highway S & S 356th Street, Complete	EA LS	10	\$400.00 \$75,000.00	\$4,000.00 \$75,000.00	\$650.00 \$75,000.00	\$6,500.00 \$75,000.00	\$150.00 \$73,000.00	\$1,500.00 \$73,000.00	\$500.00 \$70,525.00	\$5,000.00 \$70,525.00	\$400.00 \$80,000.00	\$4,000.00 \$80,000.00	\$500.00 \$73,000.00	\$5,000.00 \$73,000.00	\$350.00 \$53,000.00	\$3,500.00 \$53,000.00
A164	Traffic Signal System Modifications - Pacific Highway S & S 352nd Street, Complete	LS	1	\$43,000.00	\$43,000.00	\$50,000.00	\$50,000.00	\$43,000.00	\$43,000.00	\$48,075.00	\$48,075.00	\$50,000.00	\$50,000.00	\$43,000.00	\$43,000.00	\$18,000.00	\$18,000.00
A165	Traffic Signal System - Pacific Highway S & S 348th St, Complete	LS	1	\$530,000.00	\$530,000.00	\$425,000.00	\$425,000.00	\$527,000.00	\$527,000.00	\$430,000.00	\$430,000.00	\$550,000.00	\$550,000.00	\$528,000.00	\$528,000.00	\$406,000.00	\$406,000.00
A166	Traffic Signal System - Pacific Highway S & S 344th St, Complete	LS	1	\$360,000.00	\$360,000.00	\$275,000.00	\$275,000.00	\$357,000.00	\$357,000.00	\$305,000.00	\$305,000.00	\$375,000.00	\$375,000.00	\$358,000.00	\$358,000.00	\$274,000.00	\$274,000.00
A167	Traffic Signal System - Pacific Highway S & S 340th Place, Complete	LS	1	\$465,000.00	\$465,000.00	\$400,000.00	\$400,000.00	\$463,000.00	\$463,000.00	\$405,000.00	\$405,000.00	\$480,000.00	\$480,000.00	\$464,000.00	\$464,000.00	\$356,000.00	\$356,000.00
A168	Illumination System, South End of Project to S 348th Street, Complete	LS	1	\$265,000.00	\$265,000.00	\$240,000.00	\$240,000.00	\$262,000.00	\$262,000.00	\$230,000.00	\$230,000.00	\$320,000.00	\$320,000.00	\$262,000.00	\$262,000.00	\$295,000.00	\$295,000.00
A169 A170	Illumination System, S 348th Street to S 344th Street, Complete Illumination System, S 344th Street to North End of Project, Complete	LS LS	1	\$130,000.00 \$195,000.00	\$130,000.00 \$195,000.00	\$120,000.00 \$190.000.00	\$120,000.00 \$190.000.00	\$128,000.00 \$189,000.00	\$128,000.00 \$189.000.00	\$115,000.00 \$185,500.00	\$115,000.00 \$185,500.00	\$145,000.00 \$215,000.00	\$145,000.00 \$215,000.00	\$128,000.00 \$189.000.00	\$128,000.00 \$189.000.00	\$122,000.00 \$189.000.00	\$122,000.00 \$189.000.00
A170	Interconnect System, Complete	LS	1	\$195,000.00	\$195,000.00	\$77,500.00	\$77,500.00	\$189,000.00	\$189,000.00	\$75,200.00	\$75,200.00	\$135,000.00	\$135,000.00	\$189,000.00	\$189,000.00	\$132,000.00	\$132,000.00
A172	Relocate Private Luminaires	EST	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
A173	Permanent Signing	LS	1	\$45,000.00	\$45,000.00	\$29,000.00	\$29,000.00	\$42,000.00	\$42,000.00	\$50,000.00	\$50,000.00	\$45,000.00	\$45,000.00	\$75,000.00	\$75,000.00	\$24,800.00	\$24,800.00
A174	Plastic Stop Line Type A	LF	860	\$7.00	\$6,020.00	\$6.20	\$5,332.00	\$6.00	\$5,160.00	\$6.00		\$6.00	\$5,160.00	\$6.50	\$5,590.00	\$11.00	\$9,460.00
A175	Painted Wide Line Type D	LF	9,500	\$0.50	\$4,750.00	\$0.35	\$3,325.00	\$1.00	\$9,500.00	\$0.30	\$2,850.00	\$0.30	\$2,850.00	\$0.31	\$2,945.00	\$1.00	\$9,500.00
A176	Paint Line	LF LF	134,600 3,430	\$0.15	\$20,190.00 \$20,580.00	\$0.15 \$5.20	\$20,190.00 \$17,836.00	\$0.30 \$1.00	\$40,380.00 \$3,430.00	\$0.12 \$5.00	\$16,152.00 \$17,150.00	\$0.15 \$5.00	\$20,190.00	\$0.12 \$5.40	\$16,152.00 \$18,522.00	\$0.50 \$5.00	\$67,300.00 \$17,150.00
A177 A178	Painted Stop Line Painted Traffic Arrow	EA	3,430 116	\$6.00 \$50.00	\$20,580.00	\$5.20 \$50.00	\$17,836.00	\$46.00	\$3,430.00	\$5.00	\$17,150.00	\$5.00 \$50.00	\$17,150.00 \$5,800.00	\$5.40 \$50.00	\$18,522.00	\$5.00	\$17,150.00
A179	Plastic Crosswalk Line Type A	SF	6,200	\$4.00	\$24,800.00	\$4.00	\$24,800.00	\$4.00	\$24,800.00	\$3.94	\$24,428.00	\$4.00	\$24,800.00	\$4.25	\$26,350.00	\$8.00	\$49,600.00
A180	Profiled Plastic Line Type D	LF	16,700	\$1.50	\$25,050.00	\$1.40	\$23,380.00	\$2.00	\$33,400.00	\$1.35	\$22,545.00	\$1.50	\$25,050.00	\$1.50	\$25,050.00	\$1.50	\$25,050.00
A181	Profiled Plastic Wide Line Type D	LF	9,000	\$5.00	\$45,000.00	\$4.50	\$40,500.00	\$4.00	\$36,000.00	\$4.40		\$5.00	\$45,000.00	\$4.80	\$43,200.00	\$4.00	\$36,000.00
A182	Profiled Plastic Dotted Wide Line Type D	LF	10,500	\$1.50	\$15,750.00	\$1.50	\$15,750.00	\$2.00	\$21,000.00	\$1.40	\$14,700.00	\$1.50	\$15,750.00	\$1.50	\$15,750.00	\$3.00	\$31,500.00
A183	Plastic HOV Lane Symbol Type A	EA	38	\$65.00	\$2,470.00	\$65.00	\$2,470.00	\$60.00	\$2,280.00	\$60.00	\$2,280.00	\$65.00	\$2,470.00	\$65.00	\$2,470.00	\$100.00	\$3,800.00
A184	Plastic Access Parking Space Symbol Type A	EA	1	\$65.00	\$65.00	\$65.00	\$65.00	\$60.00	\$60.00	\$60.00		\$65.00	\$65.00	\$65.00	\$65.00	\$85.00	\$85.00
A185 A186	Plastic Traffic Arrow Type A Tree Grate	EA EA	82 34	\$80.00 \$1,600.00	\$6,560.00 \$54,400.00	\$80.00 \$1,250.00	\$6,560.00 \$42,500.00	\$75.00 \$1,600.00	\$6,150.00 \$54,400.00	\$75.00 \$20,000.00	\$6,150.00 \$680,000.00	\$80.00 \$1,200.00	\$6,560.00 \$40,800.00	\$81.00 \$1,100.00	\$6,642.00 \$37,400.00	\$100.00 \$2,000.00	\$8,200.00 \$68,000.00
A187	Resolution of Utility Conflicts	EST	1	\$50.000.00	\$50,000.00	\$50.000.00	\$50.000.00	\$50.000.00	\$50.000.00	\$50.000.00	\$50.000.00	\$50.000.00	\$50.000.00	\$50.000.00	\$50,000.00	\$50.000.00	\$50.000.00
A188	Potholing	EST	1	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
A189	Pitrun Sand	CY	2,260	\$41.00	\$92,660.00	\$40.00	\$90,400.00	\$35.00	\$79,100.00	\$40.00	\$90,400.00	\$27.00	\$61,020.00	\$31.00	\$70,060.00	\$30.00	\$67,800.00
A190	Fluidized Thermal Backfill	CY	130	\$150.00	\$19,500.00	\$120.00	\$15,600.00	\$150.00	\$19,500.00	\$175.00	\$22,750.00	\$150.00	\$19,500.00	\$125.00	\$16,250.00	\$100.00	\$13,000.00
	Provide and Install Conduit, 4 In.	LF	13,300	\$8.00	\$106,400.00	\$5.80	\$77,140.00	\$8.00	\$106,400.00			\$8.00	\$106,400.00			\$4.00	\$53,200.00
	Provide and Install Vault, 4'x4'x4' 35516 PHS UG Service Conversion	EA	19	\$3,100.00	\$58,900.00	\$3,300.00	\$62,700.00	\$3,062.00	\$58,178.00	\$3,155.00	\$59,945.00	\$3,800.00	\$72,200.00	\$3,500.00	\$66,500.00	\$2,000.00	\$38,000.00
A193 A194	35400 PHS UG Service Conversion No. 1	LS LS	1	\$12,500.00 \$15,000.00	\$12,500.00 \$15,000.00	\$9,500.00 \$10.000.00	\$9,500.00 \$10,000.00	\$12,315.00 \$14,600.00	\$12,315.00 \$14.600.00	\$9,225.00 \$9,630.00	\$9,225.00 \$9.630.00	\$14,000.00 \$16.000.00	\$14,000.00 \$16.000.00	\$12,000.00 \$15,000.00	\$12,000.00 \$15,000.00	\$5,000.00 \$6.000.00	\$5,000.00 \$6.000.00
A195	35400 PHS UG Service Conversion No. 2	LS	1	\$6,000.00	\$6,000.00	\$7,100.00	\$7,100.00	\$6,000.00	\$6.000.00	4 - 7	+ - /	\$6,500.00	\$6,500.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00
A196	35400 PHS UG Service Conversion for Billboard	LS	1	\$7,000.00	\$7,000.00	\$2,500.00	\$2,500.00	\$7,000.00	\$7,000.00	\$2,450.00	\$2,450.00	\$7,500.00	\$7,500.00	\$7,000.00	\$7,000.00	\$5,000.00	\$5,000.00
A197	35109 PHS UG Service Conversion	LS	1	\$15,500.00	\$15,500.00	\$12,000.00	\$12,000.00	\$15,200.00	\$15,200.00	\$11,575.00		\$16,000.00	\$16,000.00	\$15,000.00	\$15,000.00	\$6,000.00	\$6,000.00
	34839 PHS UG Service Conversion for Billboard	LS	1	\$3,500.00	\$3,500.00	\$5,750.00	\$5,750.00	\$4,000.00	\$4,000.00	\$5,575.00		\$4,000.00	\$4,000.00	\$3,500.00	\$3,500.00	\$5,000.00	\$5,000.00
	34425 PHS UG Service Conversion	LS	1	\$9,100.00	\$9,100.00	\$9,000.00	\$9,000.00	\$9,100.00	\$9,100.00	\$8,700.00		\$10,000.00	\$10,000.00	\$9,000.00	\$9,000.00	\$5,000.00	\$5,000.00
	34434 PHS UG Service Conversion for Billboard 34414 PHS UG Service Conversion	LS LS	1	\$3,300.00 \$13,000.00	\$3,300.00 \$13,000.00	\$5,000.00 \$10,500.00	\$5,000.00 \$10,500.00	\$3,300.00 \$12,600.00	\$3,300.00 \$12,600.00	\$4,750.00 \$10,050.00	\$4,750.00 \$10,050.00	\$3,500.00 \$14,000.00	\$3,500.00 \$14,000.00	\$3,000.00 \$12,000.00	\$3,000.00	\$5,000.00 \$6,000.00	\$5,000.00 \$6,000.00
	34221 PHS UG Service Conversion for Billboard	LS	1	\$13,000.00	\$13,000.00	\$10,500.00	\$10,500.00 \$4,200.00	\$12,600.00	\$12,600.00	\$10,050.00	. ,	\$14,000.00	\$14,000.00 \$4.000.00	\$12,000.00	\$12,000.00 \$4,000.00	\$5,000.00	\$5,000.00
	34211 PHS UG Service Conversion	LS	1	\$12,000.00	\$12,000.00	\$8,700.00	\$8,700.00	\$11,700.00	\$11,700.00	\$8,550.00		\$13,000.00	\$13,000.00	\$12,000.00	\$12,000.00	\$5,000.00	\$5,000.00
	34110 PHS UG Service Conversion	LS	1	\$11,500.00	\$11,500.00	\$6,500.00	\$6,500.00	\$11,200.00	\$11,200.00	\$6,200.00	\$6,200.00	\$12,000.00	\$12,000.00	\$11,000.00	\$11,000.00	\$5,000.00	\$5,000.00
	34018 PHS UG Service Conversion for Billboard	LS	1	\$4,200.00	\$4,200.00	\$6,000.00	\$6,000.00	\$4,200.00	\$4,200.00	\$5,550.00	\$5,550.00	\$4,500.00	\$4,500.00	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00
	Misc. Service Conversion	EST	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00
	Excavation for Retraining PSE Conduit	EST	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
	Bollard Unexpected Site Changes	EA EST	6	\$600.00 \$20,000.00	\$3,600.00 \$20,000.00	\$850.00 \$20,000.00	\$5,100.00 \$20,000.00	\$690.00 \$20,000.00	\$4,140.00 \$20,000.00	\$1,200.00 \$20,000.00	\$7,200.00 \$20,000.00	\$700.00 \$20,000.00	\$4,200.00 \$20,000.00	\$400.00 \$20,000.00	\$2,400.00 \$20,000.00	\$750.00 \$20,000.00	\$4,500.00 \$20,000.00
	Settlement Monitoring for Wall 12	LS	1	\$2,500.00	\$20,000.00	\$7,000.00	\$20,000.00	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00	\$2,500.00	\$20,000.00	\$5,000.00	\$5,000.00	\$12,500.00	\$12,500.00
	Settlement Monitoring for Wall 14	LS	1	\$2,500.00	\$2,500.00	\$7,000.00	\$7,000.00	\$10,000.00	\$10,000.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00	\$12,500.00	\$12,500.00
	Settlement Monitoring for Wall 15	LS	1	\$6,000.00	\$6,000.00	\$7,000.00	\$7,000.00	\$10,000.00	\$10,000.00	\$6,000.00		\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$20,000.00	\$20,000.00
	Asphalt Cost Price Adjustment	CALC	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
A214	Concrete Inlet	EA	2	\$1,500.00	\$3,000.00	\$1,200.00	\$2,400.00	\$1,120.00	\$2,240.00	\$1,400.00	\$2,800.00	\$1,500.00	\$3,000.00	\$1,600.00	\$3,200.00	\$1,000.00	\$2,000.00
	TOTAL SCHEDULE A (bid items include sales tax)				\$14,872,687.00		\$14,865,203.50		\$15,639,232.00		\$16,499,934.55		\$18,639,614.00		\$22,419,139.50		\$14,241,438.50
	SCHEDULE B - LAKEHAVEN WATER AND SEWER																
B1	Mobilization, Schedule B	LS	1	\$1,000.00	\$1,000.00	\$25,000.00	\$25,000.00	\$35,000.00	\$35,000.00	\$25,000.00	\$25,000.00	\$10,000.00	\$10,000.00	\$25,000.00	\$25,000.00	\$125,000.00	\$125,000.00

Vendor Name> Location>				Bid #1 Graham Contracting Ltd. Seattle, WA		Bid #2 SCI Infrastructure Seattle, WA		Bid #3 Cecanti Tacoma, WA		Bid #4 Scarsella Bros.,Inc. Seattle, WA		Bid #5 Gary Merlino Construction Co. Inc. Kent, WA		Bid #6 c. MidMountain Contractors, Inc. Kirkland, WA		Engineers	s Estimate
ITEM NO.	ITEM	UNIT	APPROX. QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE		UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
B2	Flaggers and Spotters	HRS	1,500	\$51.00	\$76,500.00	\$53.50	\$80,250.00	\$50.00	\$75,000.00	\$53.85	\$80,775.00	\$56.00	\$84,000.00	\$65.00	\$97,500.00	\$50.00	\$75,000.00
B3	Removal of Structures and Obstructions, Schedule B Remove AC Water Main	LS LF	2,900	\$1,100.00 \$17.50	\$1,100.00 \$50,750.00	\$12,500.00 \$20.00	\$12,500.00 \$58,000.00	\$5,000.00 \$30.00	\$5,000.00 \$87,000.00	\$7,500.00 \$25.00	\$7,500.00 \$72,500.00	\$5,000.00 \$27.00	\$5,000.00 \$78,300.00	\$10,000.00 \$40.00	\$10,000.00 \$116,000.00	\$8,000.00 \$25.00	\$8,000.00 \$72,500.00
B4 B5	Remove Ductile Iron/Cast Iron Water Main	LF LF	510	\$17.50	\$5,100.00	\$16.60	\$8,466.00	\$14.00	\$7,140.00	\$20.00	\$10,200.00	\$8.00	\$4,080.00	\$20.00	\$10,200.00	\$15.00	\$7,650.00
B6	Remove Steel Casing	LF	60	\$10.00	\$600.00	\$25.00	\$1,500.00	\$30.00	\$1,800.00	\$30.00	\$1,800.00	\$47.00	\$2,820.00	\$25.00	\$1,500.00	\$75.00	\$4,500.00
B7	Remove Existing Pressure Reducing Valve Station	EA	1	\$1,100.00	\$1,100.00	\$1,500.00	\$1,500.00	\$800.00	\$800.00	\$1,500.00	\$1,500.00	\$7,000.00	\$7,000.00	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500.00
B8	Remove Existing Gate Valve	EA	6	\$185.00	\$1,110.00	\$600.00	\$3,600.00	\$200.00	\$1,200.00	\$500.00	\$3,000.00	\$400.00	\$2,400.00	\$300.00	\$1,800.00	\$750.00	\$4,500.00
B9	Remove Existing Hydrant Assembly Decomission DI Water Main 8 in. Diam.	EA LF	13 110	\$650.00 \$40.00	\$8,450.00 \$4,400.00	\$500.00 \$75.00	\$6,500.00 \$8,250.00	\$400.00 \$14.00	\$5,200.00 \$1,540.00	\$500.00 \$5.00	\$6,500.00 \$550.00	\$900.00 \$40.00	\$11,700.00 \$4,400.00	\$700.00 \$10.00	\$9,100.00 \$1,100.00	\$1,300.00 \$12.00	\$16,900.00 \$1,320.00
B10 B11	Structure Excavation Class B Incl. Haul for Schedule B	CY	3,800	\$40.00 \$12.00	\$4,400.00	\$75.00 \$15.50	\$58,900.00	\$50.00	\$1,540.00	\$18.00	\$68,400.00	\$40.00 \$18.00	\$68,400.00	\$26.00	\$98,800.00	\$30.00	\$1,320.00
B12	Shoring or Extra Excavation Cl. B	SF	28,200	\$0.50	\$14,100.00	\$1.00	\$28,200.00	\$0.01	\$282.00	\$0.40	\$11,280.00	\$0.10	\$2,820.00	\$1.00	\$28,200.00	\$2.00	\$56,400.00
B13	Temporary Pavement	TN	60	\$200.00	\$12,000.00	\$150.00	\$9,000.00	\$100.00	\$6,000.00	\$150.00	\$9,000.00	\$215.00	\$12,900.00	\$175.00	\$10,500.00	\$100.00	\$6,000.00
B14	Ductile Iron Pipe for Water Main 6 In. Diam. Ductile Iron Pipe for Water Main 8 In. Diam.	LF LF	10 3,850	\$200.00 \$74.00	\$2,000.00 \$284,900.00	\$190.00 \$54.00	\$1,900.00 \$207,900.00	\$60.00 \$60.00	\$600.00 \$231,000.00	\$110.00 \$57.65	\$1,100.00 \$221,952.50	\$86.00 \$73.00	\$860.00 \$281,050.00	\$100.00 \$65.00	\$1,000.00 \$250,250.00	\$80.00 \$90.00	\$800.00 \$346,500.00
B15 B16	Ductile from Pipe for Water Main 8 in. Diam.	LF LF	10	\$14.00	\$284,900.00	\$850.00	\$8,500.00	\$80.00	\$231,000.00	\$100.00	\$221,952.50	\$73.00 \$56.00	\$560.00	\$110.00	\$250,250.00	\$105.00	\$346,500.00
B17	Ductile Iron Pipe for Water Main 12 In. Diam.	LF	270	\$114.00	\$30,780.00	\$175.00	\$47,250.00	\$90.00	\$24,300.00	\$92.60	\$25,002.00	\$105.00	\$28,350.00	\$100.00	\$27,000.00	\$115.00	\$31,050.00
B18	Ductile Iron Pipe for Water Main 14 In. Diam.	LF	60	\$230.00	\$13,800.00	\$250.00	\$15,000.00	\$120.00	\$7,200.00	\$195.00	\$11,700.00	\$230.00	\$13,800.00	\$200.00	\$12,000.00	\$130.00	\$7,800.00
B19	Ductile Iron Pipe for Water Main 16 In. Diam.	LF	110	\$275.00	\$30,250.00	\$300.00	\$33,000.00	\$200.00	\$22,000.00	\$255.00	\$28,050.00	\$330.00	\$36,300.00	\$250.00	\$27,500.00	\$150.00	\$16,500.00
B20 B21	Additional Cast Iron Fittings Connect to Existing Water Main 6 In. Diam.	LB EA	1,500	\$5.00 \$1,200.00	\$7,500.00 \$1,200.00	\$3.50 \$1,675.00	\$5,250.00 \$1,675.00	\$1.00 \$1,600.00	\$1,500.00 \$1.600.00	\$6.00 \$2,525.00	\$9,000.00 \$2,525.00	\$4.00 \$1,300.00	\$6,000.00 \$1,300.00	\$2.80 \$2.500.00	\$4,200.00 \$2,500.00	\$5.00 \$2,250.00	\$7,500.00 \$2,250.00
B22	Connect to Existing Water Main 8 In. Diam.	EA	13	\$900.00	\$11,700.00	\$1,750.00	\$22,750.00	\$1,600.00	\$20,800.00	\$2,570.00	\$33,410.00	\$1,400.00	\$18,200.00	\$2,500.00	\$32,500.00	\$2,500.00	\$32,500.00
B23	Connect to Existing Water Main 10 In. Diam.	EA	1	\$850.00	\$850.00	\$3,500.00	\$3,500.00	\$1,600.00	\$1,600.00	\$2,600.00	\$2,600.00	\$1,400.00	\$1,400.00	\$2,500.00	\$2,500.00	\$2,750.00	\$2,750.00
B24	Connect to Existing Water Main 12 In. Diam.	EA EA	1	\$1,200.00 \$2,600.00	\$1,200.00	\$2,000.00	\$2,000.00 \$21,000.00	\$2,000.00	\$2,000.00 \$24,000.00	\$2,830.00 \$6,750.00	\$2,830.00 \$40.500.00	\$1,600.00 \$4,300.00	\$1,600.00 \$25.800.00	\$3,000.00	\$3,000.00 \$27,000.00	\$3,000.00	\$3,000.00 \$19,500.00
B25 B26	Connect to Existing Water Main 14 In. Diam. Connect to Existing Water Main 16 In. Diam.	EA	6	\$2,800.00	\$15,600.00 \$8,400.00	\$3,500.00 \$3,500.00	\$21,000.00	\$4,000.00 \$4,000.00	\$24,000.00	\$6,750.00	\$40,500.00 \$20,700.00	\$4,300.00	\$25,800.00	\$4,500.00 \$4,500.00	\$27,000.00	\$3,250.00 \$3,500.00	\$19,500.00
B27	Removal and Replacement of Unsuitable Foundation Material	CY	110	\$39.00	\$4,290.00	\$50.00	\$5,500.00	\$44.00	\$4,840.00	\$60.00	\$6,600.00	\$37.00	\$4,070.00	\$35.00	\$3,850.00	\$45.00	\$4,950.00
B28	Gravel Base For Trench Backfill	CY	1,780	\$26.00	\$46,280.00	\$41.00	\$72,980.00	\$10.00	\$17,800.00	\$19.25	\$34,265.00	\$31.00	\$55,180.00	\$25.00	\$44,500.00	\$45.00	\$80,100.00
B29	Concrete for Thrust Blocking	CY	115	\$250.00	\$28,750.00	\$175.00	\$20,125.00	\$200.00	\$23,000.00	\$250.00	\$28,750.00	\$250.00	\$28,750.00	\$150.00	\$17,250.00	\$300.00	\$34,500.00
B30 B31	Sampling Station 12 In. Cube Launch Assembly	EA EA	1 1	\$5,000.00 \$9.000.00	\$5,000.00 \$9,000.00	\$2,800.00 \$13,500.00	\$2,800.00 \$13,500.00	\$3,200.00 \$19,000.00	\$3,200.00 \$19,000.00	\$3,800.00 \$14,500.00	\$3,800.00 \$14,500.00	\$2,900.00 \$13,000.00	\$2,900.00 \$13,000.00	\$5,000.00 \$12,500.00	\$5,000.00 \$12,500.00	\$4,000.00 \$3,500.00	\$4,000.00 \$3,500.00
B32	Construction Sequencing and Temporary Water Service	LS	1	\$34,000.00	\$34.000.00	\$25,000.00	\$25,000.00	\$70,000.00	\$70,000.00	\$50,000.00	\$50,000.00	\$65,000.00	\$65,000.00	\$165,750.00	\$165,750.00	\$40,000.00	\$40,000.00
B33	Steel Casing 20 In. Diam.	LF	120	\$200.00	\$24,000.00	\$150.00	\$18,000.00	\$95.00	\$11,400.00	\$140.00	\$16,800.00	\$130.00	\$15,600.00	\$130.00	\$15,600.00	\$200.00	\$24,000.00
B34	Modify Existing Steel Casing	EA	2	\$1,500.00	\$3,000.00	\$3,500.00	\$7,000.00	\$850.00	\$1,700.00	\$5,000.00	\$10,000.00	\$1,500.00	\$3,000.00	\$2,400.00	\$4,800.00	\$1,500.00	\$3,000.00
	Gate Valve, 8 In.	EA	26	\$1,400.00	\$36,400.00	\$1,850.00	\$48,100.00 \$8,280.00	\$2,500.00 \$3,000.00	\$65,000.00 \$9.000.00	\$1,950.00	\$50,700.00	\$1,700.00 \$2,600.00	\$44,200.00 \$7,800.00	\$1,650.00 \$2,550.00	\$42,900.00 \$7,650.00	\$1,800.00 \$3,000.00	\$46,800.00 \$9,000.00
B36 B37	Gate Valve, 12 ln. Gate Valve, 14 ln Spur Gearing	EA EA	3	\$2,400.00 \$7,500.00	\$7,200.00 \$30.000.00	\$2,760.00 \$12,500.00	\$8,280.00	\$3,000.00	\$9,000.00	\$3,125.00 \$1,450.00	\$9,375.00 \$5,800.00	\$2,600.00	\$7,800.00 \$56,000.00	\$2,550.00	\$7,650.00	\$8,200.00	\$9,000.00
B38	Gate Valve, 16 In Spur Gearing	EA	3	\$7,900.00	\$23,700.00	\$15,500.00	\$46,500.00	\$8,500.00	\$25,500.00	\$15,400.00	\$46,200.00	\$15,000.00	\$45,000.00	\$13,000.00	\$39,000.00	\$9,500.00	\$28,500.00
B39	Pressure Reducing Valve Station No. 9A	EA	1	\$78,000.00	\$78,000.00	\$75,000.00	\$75,000.00	\$85,000.00	\$85,000.00	\$38,400.00	\$38,400.00	\$71,000.00	\$71,000.00	\$40,000.00	\$40,000.00	\$75,000.00	\$75,000.00
B40	Hydrant Assembly, 6 In.	EA	8	\$5,800.00	\$46,400.00	\$5,300.00	\$42,400.00	\$5,500.00	\$44,000.00	\$6,200.00	\$49,600.00	\$7,300.00	\$58,400.00	\$6,500.00	\$52,000.00	\$6,000.00	\$48,000.00
B41 B42	Hydrant Assembly, 8 In. Hydrant, 6 In.	EA EA	5	\$6,600.00 \$3,900.00	\$33,000.00 \$27,300.00	\$6,200.00 \$4,500.00	\$31,000.00 \$31,500.00	\$6,000.00 \$1,000.00	\$30,000.00 \$7,000.00	\$7,115.00 \$5,000.00	\$35,575.00 \$35,000.00	\$7,300.00 \$5,000.00	\$36,500.00 \$35,000.00	\$7,500.00 \$4,300.00	\$37,500.00 \$30,100.00	\$7,500.00 \$4,500.00	\$37,500.00 \$31,500.00
B43	Reconnecting Existing Tapping Hydrant	EA	1	\$1,000.00	\$1,000.00	\$2,600.00	\$2,600.00	\$500.00	\$500.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00
B44	Hydrant Extension, Vertical	LF	1	\$1,500.00	\$1,500.00	\$950.00	\$950.00	\$500.00	\$500.00	\$1,085.00	\$1,085.00	\$1,100.00	\$1,100.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
B45	Service Connection 1 In. Setter (2 In. Service Pipe)	EA	7	\$1,500.00	\$10,500.00	\$2,400.00	\$16,800.00	\$2,300.00	\$16,100.00	\$2,550.00	\$17,850.00	\$2,200.00	\$15,400.00	\$2,400.00	\$16,800.00	\$3,000.00	\$21,000.00
B46 B47	Service Connection 1-1/2 In. Setter (2 In. Service Pipe) Service Connection 2 In. Setter (2 In. Service Pipe)	EA EA	3	\$2,400.00 \$3.000.00	\$7,200.00 \$3.000.00	\$3,850.00 \$3,600.00	\$11,550.00 \$3,600.00	\$3,000.00 \$3,500.00	\$9,000.00 \$3,500.00	\$3,555.00 \$3,950.00	\$10,665.00 \$3,950.00	\$2,900.00 \$3.000.00	\$8,700.00 \$3.000.00	\$3,300.00 \$3,600.00	\$9,900.00 \$3,600.00	\$3,500.00 \$4,000.00	\$10,500.00 \$4,000.00
B48	Service Connection 5/8 x 3/4 In. Setter (2 In. Service Pipe)	EA	12	\$2,000.00	\$24,000.00	\$1,900.00	\$22,800.00	\$1,900.00	\$22,800.00	\$2,650.00	\$31,800.00	\$2,000.00	\$24,000.00	\$2,500.00	\$30,000.00	\$2,000.00	\$24,000.00
	Customer Supply Line	LF	230	\$60.00	\$13,800.00	\$50.00	\$11,500.00	\$24.00	\$5,520.00		\$11,500.00	\$20.00	\$4,600.00		\$5,750.00	\$25.00	\$5,750.00
B50	Resolution of Utility Conflict	FA	1 1	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00 \$5,000.00
B51 B52	Potholing Adjust Water Valve Box	FA EA	28	\$5,000.00 \$425.00	\$5,000.00 \$11,900.00	\$5,000.00 \$425.00	\$5,000.00 \$11,900.00	\$5,000.00 \$350.00	\$5,000.00 \$9,800.00	\$5,000.00 \$425.00	\$5,000.00 \$11,900.00	\$5,000.00 \$400.00	\$5,000.00 \$11,200.00	\$5,000.00 \$250.00	\$5,000.00 \$7,000.00	\$5,000.00 \$400.00	\$5,000.00 \$11,200.00
	Adjust Water Meter Box	EA	5	\$110.00	\$550.00	\$500.00	\$2,500.00	\$350.00	\$1,750.00	\$500.00	\$2,500.00	\$300.00	\$1,500.00	\$250.00	\$1,250.00	\$500.00	\$2,500.00
B54	Adjust Existing Sewer Manhole to Grade	EA	4	\$1,200.00	\$4,800.00	\$750.00	\$3,000.00	\$450.00	\$1,800.00	\$1,000.00	\$4,000.00	\$1,000.00	\$4,000.00	\$400.00	\$1,600.00	\$750.00	\$3,000.00
	Reconstruct Manhole	EA	19	\$1,800.00	\$34,200.00	\$2,500.00	\$47,500.00	\$2,500.00 \$40,000.00	\$47,500.00	\$1,550.00	\$29,450.00	\$1,600.00	\$30,400.00	\$2,000.00	\$38,000.00	\$2,500.00	\$47,500.00
B56	Unexpected Site Changes SUB-TOTAL SCHEDULE B	EST		\$40,000.00	\$40,000.00 \$1,244,880.00	\$40,000.00	\$40,000.00 \$1,379,276.00	φ40,000.00	\$40,000.00 \$1,395,572.00		\$40,000.00 \$1,326,439.50	\$40,000.00	\$40,000.00 \$1,435,840.00		\$40,000.00 \$1,565,550.00	\$40,000.00	\$40,000.00 \$1,677,570.00
	Sales Tax				\$1,244,880.00		\$1,379,276.00		\$1,395,572.00		\$1,326,439.50		\$1,435,640.00		\$1,565,550.00		\$1,677,570.00
	T^OTAL SCHEDULE B				\$1,363,143.60		\$1,510,307.22		\$1,528,151.34		\$1,452,451.25		\$1,572,244.80		\$1,714,277.25		\$1,836,939.15
	SCHEDULE C - COMCAST UNDERGROUNDING																
	Install Conduit 2 In.	LF	120	\$2.50	\$300.00	\$4.00	\$480.00	\$2.00	\$240.00			\$3.50	\$420.00		\$240.00	\$3.00	\$360.00
	Install Conduit 4 In. Install Vault SGLB 2436	LF EA	15,400	\$5.50	\$84,700.00	\$4.00 \$220.00	\$61,600.00 \$3,640.00	\$4.00	\$61,600.00	\$4.00 \$205.00	\$61,600.00 \$2,460.00	\$5.50 \$635.00	\$84,700.00	\$2.00 \$500.00	\$30,800.00	\$4.00	\$61,600.00
	Install Vault SGLB 2436 Install Vault SGLB 3048	EA EA	12 14	\$190.00 \$285.00	\$2,280.00 \$3,990.00	\$220.00 \$275.00	\$2,640.00 \$3,850.00	\$800.00 \$800.00	\$9,600.00 \$11,200.00	\$205.00	\$2,460.00 \$3,570.00	\$625.00 \$750.00	\$7,500.00 \$10,500.00	\$500.00 \$500.00	\$6,000.00 \$7,000.00	\$1,000.00 \$1,000.00	\$12,000.00 \$14,000.00
C5	Install Pedestal	EA	8	\$190.00	\$1,520.00	\$3,000.00	\$24,000.00	\$800.00	\$6,400.00	\$375.00	\$3,000.00	\$215.00	\$1,720.00	\$500.00	\$4,000.00	\$500.00	\$4,000.00
	Unexpected Site Changes	EST	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
	TOTAL SCHEDULE C				\$97,790.00		\$97,570.00		\$94,040.00)	\$76,110.00		\$109,840.00		\$53,040.00		\$96,960.00
	(bid items include sales tax)																
D4	SCHEDULE D - PSE UNDERGROUNDING Install Conduit 2 In.		1 1000	#0.00	\$4,732.00	\$2.60	¢4 722 00	\$2.00	\$3,640.00	\$2.50	\$4,550.00	\$2.70	\$4,914.00	\$2.00	\$3,640.00	\$3.00	\$5,460.00
D1 D2	Install Conduit 3 In.	LF LF	1,820 4,110	\$2.60 \$5.00	\$4,732.00	\$2.60	\$4,732.00 \$15,207.00	\$2.00	\$3,640.00	\$2.50	\$4,550.00 \$15,412.50	\$2.70 \$5.50	\$4,914.00 \$22,605.00	\$2.00	\$3,640.00	\$3.00	\$5,460.00
	Install Conduit 4 In.	LF	16,200	\$5.50	\$89,100.00	\$4.80	\$77,760.00	\$4.00	\$64,800.00	\$4.75	\$76,950.00	\$6.00	\$97,200.00	\$2.00	\$32,400.00	\$4.00	\$64,800.00
D4	Install Conduit 6 In.	LF	12,600	\$7.00	\$88,200.00	\$6.40	\$80,640.00	\$6.00	\$75,600.00	\$6.25	\$78,750.00	\$7.50	\$94,500.00	\$3.00	\$37,800.00	\$4.00	\$50,400.00
D5	Install PSE Junction Box 4'8"x7'x5'8"	EA	19	\$425.00	\$8,075.00	\$1,800.00	\$34,200.00	\$1,000.00	\$19,000.00	\$1,750.00	\$33,250.00	\$1,300.00	\$24,700.00	\$500.00	\$9,500.00	\$1,500.00	\$28,500.00
	Install PSE Transformer 4'8"x4'8"x3'6"	EA	4	\$425.00	\$1,700.00	\$1,200.00	\$4,800.00	\$1,000.00	\$4,000.00	\$1,155.00	\$4,620.00	\$1,000.00	\$4,000.00	\$500.00	\$2,000.00	\$1,500.00	\$6,000.00
D7	Install PSE Transformer 36"x42"x38"	EA	11	\$425.00	\$4,675.00	\$700.00	\$7,700.00	\$800.00	\$8,800.00	\$680.00	\$7,480.00	\$800.00	\$8,800.00	\$500.00	\$5,500.00	\$1,000.00	\$11,000.00

			Bid #1		Bid #2		Bid #3		Bid #4		Bio	l #5		Bid #6			
Vendor Name>			Graham C	ontracting Ltd.	SCI Infra	structure	Ce	ecanti	Scarsella	Bros.,Inc.	Gary Merlino Cor	struction Co. Inc.	MidMountain	Contractors, Inc.	Engineer	s Estimate	
	Location>		Seattle, WA		Seattle, WA		Tacoma, WA		Seattle, WA		Kent, WA		Kirkland, WA				
		UNIT	APPROX.	UNIT PRICE	UT PRICE												
ITEM NO		ONIT	QUANTITY		TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
D8	Install PSE Handhole 2'8"x3'8"x3'	EA	11	\$370.00	\$4,070.00	\$425.00	\$4,675.00	\$800.00	\$8,800.00	\$400.00	\$4,400.00	\$800.00	\$8,800.00	\$500.00	\$5,500.00	\$800.00	\$8,800.00
D9	Install PSE Handhole 17"x30"x12"	EA	3	\$600.00	\$1,800.00	\$625.00	\$1,875.00	\$800.00	\$2,400.00	\$610.00	\$1,830.00	\$400.00	\$1,200.00	\$500.00	\$1,500.00	\$800.00	\$2,400.00
D10	Install PSE Switch Vault 5'10"x8'2"x11'4"	EA	4	\$460.00	\$1,840.00	\$3,100.00	\$12,400.00	\$2,500.00	\$10,000.00	\$3,000.00	\$12,000.00	\$1,600.00	\$6,400.00	\$500.00	\$2,000.00	\$1,800.00	\$7,200.00
D11	Install PSE Pull Vault 5'10"x8'2"x11'4"	EA	4	\$460.00	\$1,840.00	\$3,100.00	\$12,400.00	\$2,500.00	\$10,000.00	\$3,000.00	\$12,000.00	\$1,600.00	\$6,400.00	\$500.00	\$2,000.00	\$1,800.00	\$7,200.00
D12	Install PSE Pull Vault 5'10"x5'x11'4"	EA	2	\$2.00	\$4.00	\$2,100.00	\$4,200.00	\$2,500.00	\$5,000.00	\$2,000.00	\$4,000.00	\$1,600.00	\$3,200.00	\$500.00	\$1,000.00	\$1,800.00	\$3,600.00
D13	Unexpected Site Changes	EST	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00		\$5,000.00		\$5,000.00	\$5,000.00	\$5,000.00
	TOTAL SCHEDULE D				\$231,586.00		\$265,589.00		\$229,370.00		\$260,242.50		\$287,719.00		\$116,060.00		\$212,690.00
	(bid items include sales tax)																
	SCHEDULE E - CENTURYLINK UNDERGROUNDING				040400000	04.751	0407.050.00	04.00	000 100 00	04.751	0407.050.00	# 0.001	0405 000 00	00.00	045.000.00	04.00	000 400 00
	Install Conduit 4 In.	LF	22,600	\$5.50	\$124,300.00	\$4.75	\$107,350.00	\$4.00	\$90,400.00	\$4.75	\$107,350.00	\$6.00	\$135,600.00	\$2.00	\$45,200.00	\$4.00	\$90,400.00
E2	Install Vault 4484-TA	EA	8	\$215.00	\$1,720.00	\$1,200.00	\$9,600.00	\$800.00	\$6,400.00	\$1,155.00	\$9,240.00	\$1,100.00	\$8,800.00	\$3,000.00	\$24,000.00	\$1,000.00	\$8,000.00
E3	Install Handhole 264TA Unexpected Site Changes	EA EST	20	\$215.00 \$5.000.00	\$4,300.00 \$5,000.00	\$1,000.00 \$5.000.00	\$20,000.00	\$800.00	\$16,000.00 \$5,000.00	\$975.00 \$5.000.00	\$19,500.00 \$5,000.00	\$1,100.00 \$5.000.00	\$22,000.00 \$5,000.00	\$2,000.00 \$5.000.00	\$40,000.00 \$5,000.00	\$1,000.00 \$5.000.00	\$20,000.00 \$5,000.00
E4	1 1	E 5 1	<u> </u>	\$5,000.00	+-/	\$5,000.00	\$5,000.00	\$5,000.00	. ,	\$5,000.00	+-,	+-,	. ,	¥ - /	• ,	\$5,000.00	. ,
	TOTAL SCHEDULE E (bid items include sales tax)				\$135,320.00		\$141,950.00		\$117,800.00		\$141,090.00		\$171,400.00		\$114,200.00		\$123,400.00
	(blu itellis iliciude sales tax)																
	TOTAL SCHEDULE A + B + C + D +E =				\$16,700,526.60		\$16,880,619.72		\$17,608,593.34		\$18,429,828.30		\$20,780,817.80		\$24,416,716.75		\$16,511,427.65
	Contractor Total				\$16,701,392.60		\$16,889,105.07		\$17,608,593.34		\$17,817,828.30		\$20,780,817.80		\$21,284,716.75		
	Bid Form				YES		ΈS		ÆS		ES		ES		YES		
	Addendum acknowledgement				YES		ΈS		ES		ES		ES		YES		
	Bid Schedle				YES		ΈS		ES		ES		ES		YES		
	Bid Signature				YES		ΈS	YES			ES		ES		YES		
	Bid Bind				YES		ΈS		ES		ES		ES		YES		
	Subcontractor List				YES		ΈS	YES		YES		YES		YES			
	Non-Collusion Declaration'			YES		YES		YES		YES		YES		YES			
	DBE Utilization Cert		YES			ΈS		ES	YES		YES		YES				
	DBE Written Confirmation				YES		ES	١	'ES	Υ	ES	Y	ES	,	YES		

Math error Bid Item D12 Used Wrong Schedule B **Unit Cost** \$2.00 Bid Item B39 Deleted Original Actual \$870.00 650 -\$4,550.00 \$4.00 Bid Item B45 (B46) Difference \$866.00 Quanitty Changed to 7 Error in total bid SCI \$7,200.00 \$16,701,392.60 Bid \$16,700,526.60 Difference \$16,800.00 Orignal \$9,600.00 Actual Difference \$866.00 Bid Item B46 (B47) Quanitty Changed to 3 SCI \$7,700.00 Bid \$11,550.00 Difference \$3,850.00 Bid Item B50 Deleted -\$12,800.00 Bid Item B51 Deleted -\$3,850.00 650 -\$7,750.00 -\$736.25 -\$8,486.25

Difference

Math error Bid Item A144 \$58.80 **Unit Cost** Original \$182,780.00 Actual \$182,280.00 Difference \$500.00 Math error Schedule A Total \$15,887,934.55 \$16,499,934.55 -\$612,000.00 Orignal Actual Difference

Math error Bid Item A24 \$120.00 \$348,000.00 \$3,480,000.00 -\$3,132,000.00 Unit Cost Original Actual Difference